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P-1II (1+1+1) H/21 (N)

SANSKRIT (Honours)
Paper Code : VIII - A & B

[New Syllabus]

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code :

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.

I

A

&

B

Important Instructions
for Multiple Choice Question (MCQ)

in the Answer Script.

Example — If alternative A of 1 is correct, the write :

1. — A

® There is no negative marking for wrong answer.
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Paper Code : VIII - A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. How many types of a2 are there in THhTTE?
Ay
(B) 3=
(C) 3™
(D)

2. What is the fa=TSI[or of 3mq?
(A) feeTst
(B) Sr3f
(C) TTaraT]
(D) Tfed

3. How many TUTs admitted by 3=z ?
(A) 07
(B) 09
(©) 18
(D) 24
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4. srdfiaifdeae@d: | (Fill in the blank)
(A) 3T
(B) &=
(C) ahret:

(D) 3T

5. “IfGTWN GG~ What type of SeTHI is here?
(A) TS
(B) @EUTHE
(C) arfera
(D) TR

6. Which one of the following is the cause for the understanding of a sentence?
(A) 3=
(B) draar
(OrE)
(D) ¥t

7. What is the WiaRT of YRTHT&E?
(A) T
(B) s
(C) |HaTg
(D) ervma
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8. In the list of §3& made by 3 ¥9Z which §F is T, A and F=?
(A) gt
(B) o=
(C)arg
(D) 3T

9. |4 is a—
(A) 5
(B) o
(© =
(D) fazry
10. Which 2= is responsible for the realization of & and EHCK
(A)=reg
(B) TG
©)w

(D) &

11. Who is the author of T &IHIRERT?
(A) FerT=ari
(B) SHTHT
(C) Tt
(D) AT
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12. How many s accepted by Hi&d?
(A) 24
(B) 25
(C) 26
(D) 27

13. Who was the founder of =ITaa3?
(A) Tt
(B) &UeT
(C) =uTg

(D) TS

14. Who was the first fefg¥ of Jainism?
(A) FETER
(B) araf=mer
(C) Heee
(D) T

15. Who wrote A= ?
(A) Td=Tfer
(B) ararenfafay
(C) fawmferey

(D) AT
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16. Who is the main exponent of T&daTE?
(A) T
(B) JehTrard
(C) weaTend
(D) SeeraTaTd

17. Which of the following 3Tf&a@ &3 does not admit ELLY,
(A) =1 F
(B) F2ifv=w
(C) |re
(D) I

18. What is the other name of =Tafa?
(A) FrHTad
(B) To@iE
(C) wrzHtwrET
(D) &arga

19. According to Buddhism the number of s are-
(A) 03
(B) 04
(©)02
(D) 05
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20. Which school belongs to 3TTEhT=IaTE?
(A) §IiE="
(B) AT
(€)=
(D) FHrara
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P-1III (1+1+1) H/21 (N)
2021

SANSKRIT (Honours)

Paper Code : VIII - B
[New Syllabus]

Full Marks : 80 Time : Three Hours Thirty Minutes
The figures in the margin indicate full marks.
Unit - I
1. Answer any two of the following questions (within 200 words) : 15%2=30

(a) Define §HATT after Annambhatta. Discuss why THATT has been accepted
as a separate Terel. Point out the difference between TATT and THATE.

(b) What is 31419 ? Explain the different types of 3THI9 as shown by
Annambhatta.

(¢) What is the meaning of @Y in perception? Mention and explain types

of T,

(d) Define ST after Annambhatta. What part does it play in THA?

2. Write short notes any two of the following (Each answer within 100 words) :

5%2=10
(a) STEHATRISRRUT

(b) FATTEIERITHTT

(c) Fqfa:

(d) e ramreEEy Sufaf:
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Unit - 1T

3. Answer any two of the following questions (Each answer within 200 words) :
15%2=30

(a) Give a brief account of 31TcHT as found in different schools of Indian
Philosophy.

(b) Explain the concept of 3T3TT in Advaita Vedanta,
(c) Discuss T3 atomism.

(d) Give a brief account of the different schools of Buddhist thought.

4. Write short notes any two of the following questions (Each answer within 100

words) : 5x2=10
(a) HTEIS:
(b) HiEgEH FHTI
(c) TATg T

(d) STETFAT:
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